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tHEI T SEHTH R L D
B SEAKHEAD OF T, 80m fHAEE =
PEH Ry WML, PEEMEL 10, 000m3LL F50, 000m3ATH
A=y 17985. 3 17985.30[17985.3 m3
PEH +wb
Jr B A 1139.8 1139.80] 1139.8 m3
1 (L—2X) +wb
17985.3 + 1139.8 19125.10[19125. 1 m3
BT
*
i+ (OL—2X)
0. 00 0.0 m3
BRIOET
TR PN HEABHAONLRESY— FET (FaE) 1. 0kmEIN =
A PHIA
N A 17985.3 + 1139.8 19125. 10 m3
AT
0. 00 0. 00 m3
19125.10 — 0.00 / 0.9 = 19125. 1]19125.1 m3
BRIOET
TRAN#EA =
i
P4 AU GO ALER 19125. 10 19125. 10| 19125. m3
EEER T
*
TR T A PR EE LY
)i B 2315.5 2315. 50 m2
WERIE A TRERIXI L
82.6 82. 60 m2
2315.5 + 82. 6 2398.10[ 2398. 1 m3
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ABRIE (m) Wrids | W +& Wrimfg M i3
10mE > 5 (m2) (m2) (m3) (m2) (m2) (m3)
0 + 0. 000 10.9 14. 1
0 + 5. 000 5.0 22.2 16. 55 82.8 14.5 14. 30 71.5
1 + 0. 000 5.0 14. 4 18. 30 91.5 18.8 16. 65 83.3
2 + 0. 000 10.0 11. 1 12. 75 127.5 17. 4 18. 10 181.0
3 + 0. 000 10. 0 3.7 7.40 74.0 25.9 21.65 216.5
4 + 0. 000 10.0 50. 4 27.05 270.5 34. 3 30. 10 301.0
5 + 0. 000 10.0 181.0 115.70 1157.0 1.1 17.70 177.0
6 + 0. 000 10.0 383.7 282. 35 2823.5 1.6 1.35 13.5
7T+ 0. 000 10.0 711.9 547. 80 5478. 0 2.1 1.85 18.5
8 + 0. 000 10.0 415. 8 563. 85 5638. 5 1.3 1.70 17.0
9 + 0. 000 10.0 32.6 224. 20 2242.0 10. 8 6. 05 60. 5

i 90.0 17985. 3 1139.8
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10mtE > 5 (m2) (m2) (m3)
0 + 0. 000 0.0
0 + 5. 000 5.0 0.0 0. 00 0.0
1 + 0. 000 5.0 0 0. 00 0.0
2 + 0. 000 10.0 0.0 0. 00 0.0
3 + 0. 000 10. 0 0.0 0. 00 0.0
4 + 0. 000 10.0 0.0 0. 00 0.0
5 + 0. 000 10. 0 0.0 0. 00 0.0
6 + 0. 000 10.0 0.0 0. 00 0.0
7T+ 0. 000 10.0 0.0 0. 00 0.0
8 + 0. 000 10. 0 0.0 0. 00 0.0
9 + 0. 000 10.0 0.0 0. 00 0.0
90.0 0.0
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10mt" > F (m) (m) (m2) (m) (m) (m2)
0 + 0. 000 9.3 0.0
0 + 5. 000 5.0 13.9 11. 60 58.0 0.0 0. 00 0.0
1 + 0. 000 5.0 16.7 15. 30 76.5 0.0 0. 00 0.0
2 + 0. 000 10.0 15.0 15. 85 158. 5 0.0 0. 00 0.0
3 + 0. 000 10.0 16.6 15. 80 158. 0 0.0 0. 00 0.0
4 + 0. 000 10.0 34. 2 25. 40 254. 0 0.0 0. 00 0.0
5 + 0. 000 10.0 36. 1 35. 15 351.5 0.0 0. 00 0.0
6 + 0. 000 10.0 36.9 36. 50 365. 0 0.0 0. 00 0.0
7+ 0. 000 10.0 32.8 34. 85 348.5 0.0 0. 00 0.0
8 + 0. 000 10.0 30.0 31. 40 314.0 0.0 0. 00 0.0
9 + 0. 000 10.0 16. 3 23.15 231.5 0.0 0. 00 0.0

G 90.0 2,315.5 0.0
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T 1 /AR /B o B
AT
1 K
AR A IR A FHEyEm CFHWmEHEELY
J=3cm 2242.0 2242.0 m2
WESEREE AEA TR K
82.6 82. 60 m2
2242.0 + 82.6 2324. 60| 2324.6 m3
AE 100m22%4 ¥
23 23.0 kg
JE & F kAt 100m2%4 »
t=3cm 3900 3900. 0 1
ZE 40 100m234 Y
#14 50X 50 100 X 1.4 140 m2
ET = 0. 34</m2 100m224 v
¢ 16X 400mm 30 30.0 ZN
W7 v h—E 1. 5A%/m2 100m234 v
¢ 9X200mm 150 150. 0 ZN
5
ek
23 / 100 2324. 60 534. 7 kg
JE & A
t=3cm 3900 / 100 2324. 60 90659. 4 1
Z e
2. 0-50% 50 140 / 100 2324. 60 3255 m2
ET B
¢ 16X 400mm 30 / 100 2324. 60 698 ZN
W T =
® 9X200mm 150 / 100 2324. 60 3487 ZN
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HEAME G TR R

T 1 /AR /B AN R o B
fEELT
1 K
PR D INEEHEAK HEHEK ERBEK PRk
SN 0.00 + 23.66 + 55.96 + 11.19
RS A /NS b ERYEK WEmHRRE
17.50 + 15.60 +  16.10 140.01| 140.0 m3
HEREL INEEHEAK HEHEK ERBEK PRk
AN 0.00 + 19.34 + 29.17 + 6. 29
RS NS b ERYEK WEHRE
13.69 + 12.30 +  24.80 105.59 105.6 m3
e S RHIA
SN 140. 01 140. 01 m3
Et+EE #EuUER
105.59 —  19.34 86. 25 m3
140.01 — 86.25 / 0.9 = 44.2]  44.2  m3




HEAME G TR R

T/ R A1/ Bk M R B &=
Pk T
I
UNEZF N R L D
Y7 U—Fh 14.5 + 19.8 + 18.6 + 18.6 + 18.6
19.2 + 19.2 + 17.0 + 12.8 + 11.0 169. 3 m
w7 U—h 10m4 7= Y
R T, 0.050 X  2.000 X 10. 00 1. 000 m2
w7 Y—h 10m4 7= Y
arzy—ra| (0 0.350 + 1.376 + 0.618) X 10.0 23. 440 m2
w7 —h 10m¥4 7= Y
AL ( 0.350 + 1.376 + 0.618) X 10.0 23. 440 m2
1500 -
| T

[ (b%FEE)
e

300

o = T

N BYyavsy—p
t=bcm

et
VS
T 1.000 / 10 X 169.3 16.93| 16.9 m2
VS
23y ) — MTR 23.440 / 10 X 169.3 396.84| 396.8 m2
VS
#®AET 23.440 / 10 X 169.3 396.84| 396.8 m2
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TR /B / FR S N R ¥ &
TEBEAK SRR L 0
FHE INBEE ANE'SE &
( 10.296 + 0.435 + 0.565) X 5
+( 10.296 + 0.435 + 0.315 ) X 5 = 111..71] 111.7 m
EEERY o F L 10m4 729
¢ 200 10. 000 = 10.000 m
R 10m%7=
NEBEl (0 0.710 + 0.500) X 0.350 / 2 X 10.000 = 2.118 m3
HWEREL AU =F LB 10m%4 72 9
SN 2.118 — 0.222 *X 7/4 X 10. 000 = 1.731 m3
HE LM 10m47= 9
RC-40 1.731 = 1.731 m3
Y
| : . |
\\ §
| \ —_ —
\ .
\
\ =
\ \
/‘
| \ |
S O [
185 | .
| RC-40 ‘ 50072 % | = ER —
@ 200
E5
TR Y T L
$ 200 10.000 / 0 X 111.7 = 111.71 m
RAE D
IINERLAE 2.118 / 10 X 111.7 = 23.66 m3
HEL
IINFRLAE 1.731 / 10 X 111.7 = 19.34 m3
HE LA

RC-40 1.731 / 10 X 111.7 = 19.34 19.3 m3




HEAME G TR R

1 /A1 /LA M R W =
ERBEK FEMEE &0
S P e 41.0 41.0[ 41.0 m
Hrax 6.4 + 14.5 + 19.8 + 18.6 + 19.2
14.0 — 41.0 51.5 51.5 m
At 41.0 +  51.5 92.5 m
W2 AN 10m24 7= 0
300X 300 10. 000 / 2. 000 5. 000 ZN
W)L 2 )L 10m%4 72 9
1:3 t=20 0.360 X 0.020 X 10.000 0.072 m3
FEREAS 10m% 72 V)
RC-40 t=100 0.460 X 0.100 X 10.000 0. 460 m3
RIED  /NHIR 10m%72 9
Hrax 0.605 X 1.000 X 10.000 6. 050 m3
HEREL /B E R A Y a7 U — NERR
Hrax 6.050 —( 0.212 +( 0.245 + 0.245 ) X 0.050
BV X VIERR FERERE A PR 10m24 7= ¥
+ 0.360 X 0.020 —+ 0.460 X 0.100 ) X 10.000 3. 153 m3
S 10m47- 9
CHL~25-30 390 X 495X 100 10.000 /  0.495 20. 202 e
w7 U—h 10m¥% 729
UM T 0.050 X 2 X 10. 00 1. 000 m2
w7 U—F 10m24 7= 1)
a7 ) — TR 0.245 X 2 X 10. 00 4. 900 m2
Eh=arrU—F 10m24 7= 1)
m=AL 0.245 X 2 X 10. 00 4. 900 m2
1000 G0
245 55 390 ! 245
300
_| BWiRE /
2 ; Eamy
= E } o ‘ ?E:Bcﬁ)/] =t
® i - s
8 i : 00X 200
=k | A=0.212m2
50 360 50
EJLZ I
460 1:3
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T 1 /AR /B AN R o B
5
e SN B F R
300X 300 5.000 / 10 X 41.0 20. 50 ZN
T-HE R ik
CH-25-30-30 5.000 / 10 X 51.5 25.75 ¥
e )L XL
1:3 t=20 0.072 / 10 X 92.5 0. 67 m3
TR
RC-40 t=100 0.460 / 10 X 92.5 4.26 m3
PR D
/N 6.050 / 10 X 92.5 55. 96 m3
MREL
/AR 3.153 / 10 X 92.5 29. 17 m3
ERYEK & B R
20.202 / 10 X 41.0 82. 83 83 &
ERYEK & ik
20.202 / 10 X 51.5 104. 04 105 #¢
BEY L7 Y —h
AT 1.000 / 10 X 92.5 9.25 9.3 m2
BEY L7 Y —h
2Ly ) — MR 4.900 / 10 X 92.5 45.33| 45.3 m2
BEY L7 Y —k
AT 4.900 / 10 X 92.5 45.33| 45.3 m2




HEAME G TR R

FE A1/ A1/ 5 N R ¥ =
WG HEK PR & 0
P 25
300X 300 18.5 18.5 18.5 m
TF2E AR 10m% 7= ¥
CH-25-30-30 10. 000 / 2. 000 5. 000 /N
g )L 2 )L 10m47= 1
1:3 t=20 0.360 X 0.020 X 10.000 0.072 m3
JEREAS 10m%7= 9
RC-40 t=100 0.460 X 0.100 X 10.000 0. 460 m3
KRV 10m%47= 9
JINEAE 0.605 X 1.000 X 10.000 6. 050 m3
HEL ke G S
/N 6.050 —( 0.212 + 0.360 X  0.020
FLRE R PR 10m%7= 9
0.460 X 0. 100 ) X 10. 000 3. 398 m3
DS 10m247= 1
CHL-25-30 390X 495 X 100 10.000 /  0.495 20. 202 bie
B
1000 CHLO5-30
55, 390 55
‘ 300 ’ /
| 8 |
| |
| |
g 1 |
2 = :\#E%_’u.@
| l‘ 2= 48
< | f - g?d‘(‘)";t?%{)i%
g } 77J' A=0. 212m2
5q 360 Bol
FEILZIL
460 13

G




HEAME G TR R

T 1 /AR /B AN R o B
5
b S b3
300X 300 5. 000 10 X 18.5 9.25 N
e )L XL
1:3 t=20 0.072 10 X 18.5 0.13 m3
RS
RC-40 t=100 0. 460 10 X 18.5 0.85 m3
IR D
SN R 6. 050 10 X 18.5 11.19 m3
HEL
/N 3. 398 10 X 18.5 6. 29 m3
S
CHL~25-30 390 X 495 X 100 20. 202 10 X 18.5 37.37 38 M




HEAME G TR R

T 1 /AR /B AN R W =
kT
(VLSRR ) X
BUGFT B Kt R L
6.0 6.0 & P
IR 1.0 + 1.0 + 1.0 + 1.0 + 1.
HEPEAK] + 0.0 )/ 6.0 0.833
PR W i A SR
MEPEK 0.222 *X 1 /4 X 0.833 0. 032
IR 2.0 + 2.0 + 2.0 + 3.0 + 1.0
IERHEK 2.0 )/ 6.0 2. 000
PR W I A SR
LR HEK 0.300 X  0.300 X  2.000 0. 180
a7 U—Fh VTS 72 1
V=0. 298m3 0.800 X  0.800 X  0.750
WZE  PER
0.500 X  0.500 X  0.600
TEE AT i 225 LK T th 422 B
0.032 X 0.150 - 0.180 X  0.150 0. 298 m3
Fll e 1P 72 Y
0.800 X 0.750 + 0.500 X  0.600 ) X
TERE AT i 2% B LHEZK T th 422 B
0. 032 - 0.180 3. 388 m2
SRt
RC-40 t=150 0.900 X  0.900 0. 810 m2
= 7 L—F 7% 500500/, T-14 24kg/# 1T 72 9
1. 000 1. 000 K
IR )
SN 1.800 X  1.800 X  0.900 2.916 m3
ML PR
IINHLRE 2.916 — 0.800 X 0.800 X  0.750
e
— 0.900 X  0.900 X  0.150
Y a7 U — NERR )
—  0.650 X  0.050 2. 282 m3
0 C—— f"“/igmj%i
‘: ’%fl 23 1507 sk EE‘HL F DEPZDESN ]00"]50;\\ o A "]0?"/500)(500)(}»‘»6?9,’/
[ 74k7 ] IS0 s N /‘frfuhx? L2 $200 ]
/ ’ / S A | "{l '/ 2
| . / A 15/ s _
4 ) B | i
| ‘ j / j 900 =
/ 1800




HEAME G TR R

T 1 /AR /B AN R &=
A
ar7 J—h
0.298 X 6.0 1.79 m3
TR
3.388 X 6.0 20. 33 m2
RS RC-40 t=150
0.810 X 6.0 4. 86 m2
PR D
IR 2.916 X 6.0 17. 50 m3
MREL
/N 2.282 X 6.0 13. 69 m3
VI
1.000 X 6.0 6. 00 K




HEAME G TR R

T 1 /AR /B AN R o B
kT
(BRI ) 1 K
BT HEE KM SR
10.0 = 10.000 10 f&pT
R ( 1.0 + 1.0 + 1.0 + 2.0 + 2.0
MEHEK 1.0 + 2.0 + 2.0 + 1.0 + 2.0)
10.0 = 1.500
PR W I A SR
MEHEK 0.222 *X 1 /4 X 1.500 = 0.058
a7 U—h VTS 72 1
V=0. 282m3 0.800 X  0.800 X  0.650
WNZE  FEBR MEHEA T i 22
0.500 X 0.500 X 0.500 - 0.058 X 0.150 = 0.282 m3
@ﬁ: RN
0.800 X 0.650 + 0.500 X  0.500 ) X 4
TR B bR
0. 058 = 3.022 m2
TR
RC-40 t=150 0.900 X  0.900 = 0.810 m2
RIED LTS 7 0
SN 1.800 X  1.800 X  0.800 = 2.592 m3
HEL PEA2E
IR 2.592 — 0.800 X 0.800 X  0.650
e PR )
— 0.900 X 0.900 X  0.150 = 2.055 m3
;;//
74
i
7
] o0 800500 7
B
ﬁ’ﬂwzwz}m _ ]
T - : i
"o 2 jmujgikﬁﬂ,ﬁwzoo -1
IR B {odcoN/mp
900 RERE N
1800 RC-40




HEAME G TR R

T 1 /AR /B AN R &=
A
ar7 J—h
0.282 X 6.0 1.7 m3
TR
3.022 X 6.0 18. 1 m2
RS RC-40 t=150
0.810 X 6.0 4.9 m2
PR D
SN 2.592 X 6.0 15. 6 m3
MREL
/N 2.055 X 6.0 12.3 m3
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HEEME TR

T 1 /AR /B AN R '
PeAkEEMHET
1
SN
L PRk & 41.0 = 41.00
REED ke 10m%47= 9
SN 6.050 — 0.212 X 10.000 = 3.930
HWEL 10m247= 1
SN 0.605 X  1.000 X 10.000 = 6.050
1000 ﬁ%B—SO
55 390 55
—=All L
= |
| |
g = g
g | | a021m
50 360 bo
EIILZIL
460 1:3
%ﬁ‘éﬁ’#b‘
PR V)
SN 3.930 / 10 X 41.0 = 16.11] 16.1
MRL
IINRAE 6.050 / 10 X 41.0 = 24.81| 24.8
Hb S HIAF
IINRAE 16. 11 = 16.11
A
24. 81 = 24.81
— 16.11 + 24.81 / 0.9 = = 11.5
HWEWERELL EER)
1
o s ) — SR L
BERRHSEY MG T
BB YKL T 300300 W T FE £
CH-25 300X 300 0.054 X  31.00 = 1.67
MEHE A (1300 X 2 W
(300X 2 0.300 X  0.300 X 2 X 24.04 = 4.33
aFk
1.67 + 4.33 = 6. 00 6.0




HEEME TR

1 /A1 /LA AN R o B
TR T
1 X
I a7 U— k() #EEY
AR 6. 00 6. 00 6.0 m3
LSy a7 U — k() #EEY 2. 5t/m2
AR 6.00 X 2.50 15.00 15.0 t
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iz et

T 1 /AR /B AN R o B
Bk T
1 K
By A R RS AR GS Str&—l S GillE]
76. 00 110. 00 3.00 m 2.00 m
AL
76.0 / 2.0 + 110.0 / 2.0 = 95.00 AT
PR D
SN 0.4 X 0.4 X 1.1 = 0.18 m3
0.18 X 95. 0 = 17.10] 17.1 m3
Mo 7 U — MTR
17. 10 = 17.10] 17.1 m3
B P D RR MR mE
ViE 76.0 X 3. 00 = 228.00 m2
R i
GSS 110.0 X 3. 00 = 330.00 m2
BEk 228.00 + 330.00 = 558.0] 558.0 m2
B kD) ML
BEk 558. 00 = b558.00| 558.0 m2
SHE MEHE H200 49. 9kg/m
AN Y il 3.50 X 49.90 / 1000.00 = 0.175 t
H200 {2
HE 0.175 X  95.00 = 16.63| 16.63 t
H200 &k}
P U< 16.63 X  360.00 = 5986.80| 5987 t/H
B Maak =T
1 K
Ol LB O E
558. 0 = 558.00| 558.0 m2
27 Y — MEEYRUE L
SR B T 17. 10 = 17.10] 17.1 m3
eI a7 Y — b (MR HEY
a7 Y — b 17. 10 = 17.10] 17.1 m3
RISy a7 U — bk (M5 EEY 2. 35t/m2
L7 Y — b 17.10 X 2.35 = 40.19] 40.2 t
MERL
/N 17. 10 = 17.10] 17.1 m3
THEHEKRT EXWmEE R E LY
1 K
eI +w
amdk 234.0 = 234.00| 234.0 m3
&+
W<2. 5 4.5 = 4. 50 4.5 m3
A+ OL—X) R %+
234.0 - 4.5 = 229.50| 229.5 m3
LR
)3 B 112.8 = 112.80| 112.8 m2




BT A

T 1 /AR /B AN R o B
RIIESIA
T B 9.1 9.10 9.1 m2
KEEELT
1 K
ERTLES
7~ FAT A
R 75.0 X 75.0 - 57.0 X 57.0 2376. 0 m2
R AR
2376.0 X  1.144 2718.1| 2718.1 m2
TRHEAK
75.0 X 4.000 300. 0 m
PR 0 A
AR REAK] ( 0.9 + 0.3 )/2x 0.3 X  300.0 54.0 54.0 m3
FTH Y — MgGE A
Kl (0 0.424 x2+ 0.3 )X 300.0 344. 4| 344.4 m2




TIEEE

FEHHEEGTES
P T
] = ER +Wo, A—TF > b b, FroldEHl
ABRIE (m) WA | M hE Wrimfs  CEAME | hE
10mE > F (m2) (m2) (m3) (m2) (m3)
0 +  0.000
1 +  0.000 10.0 9. 45 94. 5
2 +  0.000 10.0 9.80 98.0
3 +  0.000 10.0 1.05 10.5
4 +  0.000 10.0 2.20 22.0
4 +  5.281 5.3 1.70 9.0
i 45.3 0.0 234.0




TIEEE

FENET AR
T

Al R P W<2.5m, L#p 1
ABRIE (m) Wrids | W +&

10mtE" > 5 (m2) (m2) (m3)

0 + 0. 000 0.0

1 + 0. 000 10. 0 0.0 0. 00 0.0

2 + 0. 000 10.0 0.2 0.10 1.0

3 + 0. 000 10.0 0.2 0. 20 2.0

4 + 0. 000 10. 0 0.0 0.10 1.0

4 + 5. 281 5.3 0.2 0.10 0.5

45.3 4.5




TIEEE
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RITHR
mooR PO LR B4 BT 1
ABRIE (m) ER | PHER | B ER S PBER | BRI
10mt" > F (m) (m) (m2) (m) (m) (m2)
0 + 0. 000 0.0 0.0
1 + 0. 000 10.0 7.0 3. 50 35.0 0.0 0. 00 0.0
2 + 0. 000 10.0 1.3 4. 15 41.5 0.5 0. 25 2.5
3 + 0. 000 10.0 1.7 1. 50 15.0 0.3 0. 40 4.0
4 + 0. 000 10.0 1.5 1. 60 16.0 0.0 0.15 1.5
4 + 5. 281 5.3 0.5 1. 00 5.3 0.4 0.20 1.1
45. 3 112. 8 9.1




]

It
a<



FEL /A / FR S

TAT7 7w BT G PN

B (FIE - BRI ED)

RC-40 t=15cm 890.90 + 114.50 + 208.60 = 1214.0f 1214.0

e (E - BRFE)
FEFRLEAs t=4cm 890.90 + 114.50 + 208.60 = 1214.0f 1214.0




5. 000

D=!

DL=15.00

ANO. 0+5. 0

GH=12.75
FH=12. 64

5. 000

D=!

DL=15.00

ANO. 0

GH=13.13
FH=12. 62

2310

V12.62

Sk A

OB X (1) s=1:100
T
@A 8% B (2)
I e 22.2
HrEEE 14.5
B £ | W<2.5m 0.0
REER
] O HE )
Y1Em | BSHINEL
BEE | BUSHINEL

+I

Al B HE m2)

g W A=ThYb 10.9
A 14.1

B+ |W<25m 0.0

TR

A B HEm

VLIEE | BHHEL

SLEE| BIEHIHRL

B 4 THREERRE —535
THET  —EE — Sk
—EEGSSt S A EEATEE
%% S B
HES HERE (1)
kR B ST E 1A
#R| 110 |EEES 05/ 2
suta | 2t
— —mE wE




10. 000

D=

DL=15.00

10. 000

D=

DL=15.00

+T
# A B BEm2)
ol A—Trhv b 1.1
AUEE 17.4
B £ | W<2.5m 0.0
HREER
5l B
YILEE | BSHIHEL
__ANO.2 BiiE E*f*“’”ﬂ
GH=13.18 BUSHIFIE L
FH=12. 71

5|
T
# 7 5% HE m2)
| o AR vE 14.4
FroimE 8.8
B £ | W<2.5m 0.0
EEER
A 8o U (m)
ANO. 1 YHEE | RISHINEL
Te1290 BEEE | TSHIORL
FH=12. 66
1500
—
)
//
//
\%///
2310 ’/>®5
=]
7

o B (2)

S=1:100

———BEANS

B 4 THOXEEREES —B535

THET  —EE — Sk
—EEGSES A EEAEE

%% AR B AR

HES HEFE @

eERE s &1 A

#R| 10 |EEES] 06/ 2

sita | 2t

- —mE G




10. 000

D=

DL=15.00

ANO. 3

GH=13. 01
FH=12.75

T

Al BB HE m2)

ol A—Trhv b 3.7
FEIEE! 25.9

B 1| W<2.5m 0.0

EEER

# Al BB HEm

YLEm | BSHHEL

BT | FSHIREL

& B (3) s=1:100

SEEFAmE

B 4 THOXEEREES —B535
THET  —EE — Sk
—EEGSES A EEAEE
%% AR B AR
HES HEFE O
eERE s &1 A
#R| 10 |EEES 07/ 2
sita | 2t
- —mE G




10. 000

D=

ANO. 4
GH=12.97
FH=12. 80
MET
®E : BEEMET X232 (13) t=40m
PR A S v v —F 2 (RC-40) t=150mm
DL=15. 00 *%

PR

T

@ Rl B % H8 m2)

w Al F—ToAhv bk 50.4
A OEHI 34.3

B £ | W<2.5m 0.0

EEER

w oA gt o) HE

YLkm| w18

ainm| BRFERL

INERHEK

‘A=

& B (4) s=1:100

[3-3=%

il
g
B
5
2

7l
Hy—r

B 4 THOXEEREES —B535

THET  —EE — Sk
—EEGSES A EEAEE

%% AR B AR

HES HEFE @

eERE s &1 A

#R| 10 |EEES] 08/ 2

sita | 2t

- —mE G




MO X (5) s=1:100

T
M A % 8 m2) g
—_ ~ w, — 15
w7 Tohv b 181.0 N i
Jancuki: ] 1.1 1500
B £ | W<2.5m 0.0
EEER
EEED B 8 )
YtEE| BIEH0EL
BEAE| BEH0EL
ANO. 5
GH=15. 69
FH=12. 84
DL=15. 00

B 4 THOXEEREES —B535
THET  —EE — Sk
—EEGSES A EEAEE
%% AR B AR
HES HEFE ©)
eERE s &1 A
#R| 10 |EEES 0/ 2%
sita | 2t
- —mE G




OB (6) $=1:100

1§
ki3
+T
Al B HE m2)
ik .
ANO. 6
B E | W<25m 0.0 ol
TR FH=12: 89
I 8 1% B m
YLAE | BUBHINORL
BIEE | TEHHEL
Z
’’’’’’’’’’’’’’’’’’’ 2310
DL=15. 00

R A IMKEFERRE —=35
THEEH  —= =ik

—EEGSES A EEAEE
TH4 S EB AL
HES HEFE ©

e A B s &1 A

R | 110 ‘@ﬁ%%\ 10 / 26
sita | 2t

BERESR —E=HT R




OB (6) $=1:100

1§
ki3
+T
Al B HE m2)
ik .
ANO. 6
B E | W<25m 0.0 ol
TR FH=12: 89
I 8 1% B m
YLAE | BUBHINORL
BIEE | TEHHEL
Z
’’’’’’’’’’’’’’’’’’’ 2310
DL=15. 00

R A IMKEFERRE —=35
THEEH  —= =ik

—EEGSES A EEAEE
TH4 S EB AL
HES HEFE ©

e A B s &1 A

R | 110 ‘@ﬁ%%\ 10 / 26
sita | 2t

BERESR —E=HT R




OB (7) s=1:100

ANO. 7
G6H=30. 14
FH=12. 94
%ﬁ
+T 5
B
M A 0% HE m2)
g w TTTAYE 711.9 |
A iEsl 2.1 N
Bt | W<2.5m 0.0 N
SEEER e N
m A 0o 52 g .
YITHE | TUSHHEL
BEEE| BUSHEL

2310

R A IMKEFERRE —=35
THEEH  —= =ik

—EEGSES A EEAEE
TH4 S EB AL
HES wERE ()

e A B s &1 A

#R| 10 |EEES 1/

K8 | B

BERESR —E=HT R




10. 000

D=

DL=15.00

] (8) s=

ANO. 8
GH=23. 84
+T FH=12.98
Bl RO #HE m2)
PN et R 415.8
FrEH! 1.3
B 1 |W<2.5m 0.0
REER
A B S ()
YILEE| REHIREL
BLAE | BSHIHEL 4
2310

1100

1500

@
:
="
|
i
)
AL
\,
b
BB THNEERRE —835
TG —EET —EiE
—EMGSE L 5 BRI
%% AR B AR
HE4 )
R EAR sHm1E1A
#R | 10 |EEES 12/
218 | 24
EEES —mET BBR




OB (9) s=1:100

T
Al

" #l

B E
FT—Trhvb
FrENEAI
W<2. 5m

HE m2)
32.6
10.8
0.0

B’ ot
EEER
Al
Y1 Hm
BLEE

ANO. 9

GH=15. 65
FH=13. 02

RO
BUSHIFOEL
BUSHIFORL

HE m)

2310

DL=15.00

B A
T & :

TRREERXE
—BE —Eihk

—EECSS T > 3 — B A AR
SRt

IR ©
s &1 A
1100 |EEES] 13/ 2
"

—®=3b

H&EBE
HERERR
fig R
Eh]
BERESR

s
=

—EHT R




NO.2, RER TEEME (B) $=1:100

+T FH=20. 592 NO 4+5 28]
@ A B BEm) I= R {{E er R
*F—TFohv 0.0
Al +
" o 07 anl__ Am w\@)4+2. 0779
B £ | W<2.5m 0.2 BBl *F—Trhv bk 0.0
EEER S — F oA 04
U= 4000 + ) 0.2
Al B HEm 2000 2000 & N<2.5m 4000
: - ‘ EEER
PhkE | RISHFIREL 1.3 - 50 4000 50Q
BTEE | BSOS L 0.5 R R BEm 2000 __ 2000
YLHE | BUBHOEL 0.5
'\j% /xﬁifﬁ THHIRL 0.4
\(.
oto 7
s e 0
7 M 5 A #E )
NO. 3+3. 986 o TPk 0.0
NO. 4 2T BRI 3.0
GH=27. 01 B 1| W<2.5m 0.0
+T FH=26. 459 AT
M Rl i B (n2) I B B ()
w o TRk 0.0 QLHE | TSR L 15
FrERI 18.9 NO. 1 HLHE | BUBHIMEL 0.0
B £ | W<25m 0.0 GH:2.0.30
FH=17. 750
e W
m Rl e B (n) . zm
YLEE| BBHEL 7.0
BEEE BERORL Py e /J/‘\
4000 Z) s
4000 - @ jlo \'}Qf"
‘ 2000 ‘ 2000 7
2, ‘ ‘ \ o
750 | | N6
e ‘ L o
T
Bl OB #HE m2) NO. 0
A el R 0.0 i B
H{EAl 0.0
B £ |W<2.5m 0.0
EEER
W R % HE () NO. 3
YLRE| BSHEL 0.0 . fan. 26
BEAE| TBHOEL 0.0 5od 40 - T ‘
2000 __ 2000 L] #_j\f“*ﬁ ﬁi((')"zg
o “n '
HEA 1.4
Bt | W<2.5m 0.2
— 4000
—— —— 2 4000 D EBREERRE —E5
| 5 8% & (m) —— s dealgialosmpy
LHE | BBHmL 1.7 —EWGSS 5 — B EAAAIE
BIHE| BBHOmL 0.3 e Sl
REETEME (5)

N O R B SR 7 1A
//x’\/f/”"—\/—/&g%"i o

@R | 100 |@mEES| 2 /2%

- 244

- BERESR —EHT R




HEE

VYA

5—2.



VYAV EEE(2)

ERHER
(==
OF A= 152.0 [ m3
ERRT T R+ T BT 0.0
HKBEYT EEXT HBREL INRE 105.6
BEMBEL BKEEMEBET ERL | /NEE 248
REET BhEEMEET IBRL IMNEE 171
RERT TERERT B+ W<2.5 45
QIRZANFI HCTREE 19,586.3 [ m3
QBAEMFIARIAREE 0.0 | m3
@M F HOIREE 0.0 [m3
OFLEHMFIFAE (@+®) /@ x 100 1000 | %
XEE 19,586.3 | m3
ERET EEIT A F—T Hhvk 17,985.3
EERL T {REIT JEA JaRAE =] 1,139.8
HKEEYT EET T KiEY INREE 140.0
HEMBET SKEEDRET KIEY| /DNEE 16.1
T BHEEMEET KRIEY IMEE 17.1
REET TERAERT A A UiEAl 234.0
REET RE=HL T KIEY INREE {REEK 54.0
QBB AFI A= ORI 19,586.3 | m3
@t IE~DREHATAESE ©-@ 0.0 [m3
(OB ERILHEZE~ D HAIEES
[
OIRIEAFI AR (@/®) x 100 100.0 | %
Q”ra
OFFAZE 216.3 [ m3
2.0t/m3 4325 | t
HEKEBEY T K RC-40 19.3
HKEEMT ERPEK ERBERA [RC-40 43
HOKBEYMT Fi5HIK EBERE [RC-40 0.9
HKEEYI ZREKH A [RC-40 4.9
HKEEYM T /MRS EMERE [RC-40 4.9
MET TERAE BAERERC-40) t=15cm 182.1
QIRZNF ATIEEE 0.0
QBAEMFIARGEE 216.3 | m3
2.0t/m3 4325 | t
DM A fES 00] t
OBF4EEMFIAE (@+®)/Dx100 100.0 | %
@TAI7TMNES
OFAE 48.6 [m3
2.35t/m3 1141 ] t
HMET R[=E BARET X32(20) t=4cm 48.6
QIRZNF ArEEE 0.0
QEEMFIAMEEE 48.6 | m3
2.35t/m3 1141 t
@F M T AnEEE 00] t
OBFEEMFAE (@+®)/Dx 100 1000 | %
vy )—rig
ORE= 552 | t
BE IR EfHEEY 15.0
BEIHLY BEEEY 40.2
@IRZANF ArEEE 00 t
OMIE~DRHTIREE 00 t
(OB ERILER~DREHEIAESE [GlELE 552 | t
[ t
WIRZANF A (@/®) x 100 0.0 ] %
GBYFRI7ILbav ) —k R
OHREE BELERIY 00] t
BEIFLS FAI7ILE 0.0
@BRIZEAF AaEEE 00] t
O ITE~DWEAIEES 00] t
OB ERILHE~DIFEIEES [GlET:S 00] t
[ 00] t
WIRSAFIFAE (@/®) x 100 0.0 [ %




BxX1—-2

KOHEBRFEAEAM OFITIL, KBABRRA K OB EM 2 & T,
(I, B R TR TR b O ZRHET D,
X RERREPEYV O FHEICOW T, EAMICIIEEEZ BT L 2 L2 FAIL LTEET 2,

XM - PR TRER

)y Y 4 U )L i B E (GEMERED
| EBHELLT BHEBOBIE S ERLBEEIHN |
. ERETHEE
Ok OB B Al ErEG % 7t 4| —EHTGSSt v & — 1 i A AR R BT B A RE
B AT % P TEREAR == THFEEF T ERY|—
B N e TR I S
BEREMAAGE
# & ' MO M OH B (@ HBANFH |® BHEMAHE |@ BHHFIHE OBEERMAR s -
A HE Fr A RE & AR | (@+®) /DX100
I w 152. 0 Hiflin3 19586. 3 Hiflim3 0. 0 Hilm3 0. 0 Hilm3 100. 0 %
[ £ 432.5 b v 0.0 b v 432.5 b v 0.0 }F v 100 %
TATgWE « ay))—} 114.1 ) v 0.0 b v 114.1 ) v 0.0 b v 100 %
v [ bV bV %
X I FEICIE, TOMOFAEBRHM Z T 558 AT 5,
3. BENEIEYIREETE
= g e CEEEE I (@) ﬁ%ﬁﬂﬁ ® MI$A? ©) ﬁ%ﬁk@&@ ety g |OBRENFIRE i
(ERHTER # R | BN o (/&) x100 k=
- EAL T L HirLim3 Hitlim3 Hitlim3 — Hitlim3 %
Sn |EBofE marset 19586. 3 Huflin3 19586. 3 Hiflim3 0 Hiflim3 — i1 Lm3 100 %
%{é SRR A I i1 11m3 i111m3 it 111m3 — it111m3 %
® AFE a1 H11Lim3 Hi1Lim3 H11Lim3 — H11Lim3 %
+ et GBEEt) | 1im3 H11im3 | 1im3 — H#11im3 %
& 2 Hilim3 Hlim3 Hhilim3 — Hi(lim3 %
=7 ) — K3 55.20 b v b by 55.2 b v — 0.0 %
JAT7 b -av) ) -1 A 0.00 b v b v b v 0bv — 0.0 %
R R E R M b v bV bV bV — %
I S by b v by by — %
it X E O EEY b b b b v — %
¥ OEEEEATLOXS GHFEERPLHWTS 6 8T 5)
OF 1 FERERFAEL - « -, BROZIDICETS L0, @ ATEERIEAEL » - BEERO I ICHEF D b0, (6 3HERIEAELZR)
@ 2 FERRIEAEL - - - WEL, BELROINLICHETS L0, Gt (BHL) c B Bilfg c 2L TFD b0,
@ STRARRFEAE L « « « B OME TS HER S DR LR O C SIS b0,




